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87 a) If ABCDEF is a regular hexagon then show

that AB+AC+AD+AE+AF=3AD. 6
A% ABCDEF U s99eyA £ A1 fag Fifmw
AB+AC+AD+AE+AF=3AD.

b) Find reactive power in the electric circuit if voltage
V=3i+ +kandcurrent T=2i-2;+4k. 6

UF A A0 § ARA V=3is 4k 30 AW

[=2i-2j+4k B @ wAME 9fed 511G Fifro)
¢) Ina A ABC prove that (By vector method)

a® =b? +¢* - 2be cos A 6

AABC ¥ g Fiae (g & zm)

2 2 P
a” =b" +¢* -2bc cosA

B
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FIRST SEMESTER
AUTO/CHEMICAL /ETE/OPTO ELEX./
ELECT.ELEX./MECH./RAC/COM.SC,/

CHM/IT/ELEX. & INSTRU.
SECOND SEMESTER

CEMENTTECH./CIVIL/CTM/ELECT./PRPC/
PLASTIC TECH/PRINTING TECH./TEXTILE
TECH./PRODUCTION ENGG./M. & M.S./M.S.

MATHEMATICS

Time : Three Hours Maximum Marks : 100

Note : (i) Attempt total six questions. Question No. 1
(Objective type) is compulsory. From the
remaining questions attempt any five.

FA B: U T D0l 99 FHE 1 (T
TER ) AEr 21 99 e d 4 B O A
#el it

(i1) In case of any doubt or dispute, the English
version question should be treated as final.

& i v F @2 yw FEr @ Ref g

FUA v F U F AEH w9 A3
1. Choose the correct answer: 2 each
TEl I F T4 FHAUI
S/2015/6033 PT.O.

http://www.rgpvonline.com

http://www.rgpvonline.com

hittp://www.rgpvonline.com


http://www.rgpvonline.com

wiooauljuoad B maan:dizy

woo auljuoadBa-mam)dizy

http://www.rgpvonline.com

(2)

i)y If2c =", then °C, is equal to:

AR 12 =2c,,, B b, AR E

(a) 360 (b) 60
(¢) 30 (d) 15
i) (l-i)2 is equal to:
(1-i)’ & " #:
(a) i (by — 2/
o) 2i (d)2-2:
‘;x{”ﬂi') The value of xh_TO 3%1 s
lim sin3x F A= ¥
x=0
(a) 0 (b) 1

T EUE

|
iv) I ——dx is equal to:

smn-x
1 ,
[—5—dv @ am
sin” x
J&) —cotx (b) cotx
(¢) cosecx () cosx
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@
dy  logx
c) If v =~ thenprovethat 4 (1+log x)z :
dy _ logx

I Lk e

' n n ﬁ'.
d) Ifx'-{-y =a then find dx

dv
R x4y =a" g :1‘2‘ Bl

— . .
> Integrate any three of the following: 6 each
Fafafa § | 6§19 e $ &9 i
.. AL dx
R sin’ x cos® x

1) [cot x dx

i) [ log x dx

v) tan”~' xdx
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(6) 3)

)’r""wl’ind mean and standard deviation of the v) If the vectors i+4;+3k and xi+2;-4k are
following data: 12 perpendicular, then the value of x is:
ggﬁfaa e & s o g e § A AR i +4/+3k AV xi+2; - 4k TER TGH]
o 3 M xF W &
Class Frequency g
i o/} g (a) 0 /(b) 2
0-10 3 g (c) 3 (d) 4
10-20 16 :
20-30 26 2
30-40 31 3 2. a) Find the middle term in the expansion of: 6
40-50 16 e
50-60 8 2x 3¢

- 53
),6./ Solve any three of the following: 6 each

: 10
2x 3 .
[{—2—) ¥ TR § 7 17 T H
a) Differentiate e” by the first principle x

¢* 1 U e ZW WahaA Sd ATl

wosauljuoadBamamm/idily

b) Resolve into a partial fraction ?x—l = -
. . dy . e +cosx (x—l)(l+x )
b) Find —ify=—"7"—
dx I+logx 6
dy - - e* +cosx Tx—~1
R X }' - —— * 3
- T FA A I+ logx o)1+ ) F e P d favam Ff)
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¢) Prove that: 6
e Fifu:
a b ¢
a* B P|=abc(a-b)(b-c)(c-a)
a@ B
3. a) Provethat w=sec 20 . 6
e coté —tan @
fra Fian coté +tané sec 20
} ————=5¢c 20 .
coté —tan
b) Prove that cos 20°cos 40° cos 60° cos 80° = ]i .
S/ 6
6
fe Eﬁlﬁm c0s 20°cos 40° cos 60° cos 80° = Ii? .
A}
¢) In any AABC. if a=8cm.ZB=60°and
ZC=30°then find the other two sides of a
triangle. 6
0 A 4BC BTG «=8AHAL L8 =60°, /(" = 30°
2 dl 3% Fya &1 99 A YAW S| S
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a) ~ Find the inverse of the matrix: 12

HEE F FFH T HIA:

o b -
AV S o
[ A

b) Find K for which the points (1.4),(K,-2) and
(-3.16) are collinear. 6

afE g (1.4).(K.-2) 3R (-3.16) wmw@ & A
K &1 91 3| it

AS Find the equation of line passing through (4,-3)

and perpendicular to the line passing through
(1.3) and (2,7). 6

Iq WA @ F FHE S it A g (4,-3)
| ER A 2 A g (1,3) 3r (2,7)F e
et T W e 2
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